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What is a record in a database

A collection of data about a single
entity.

What is the maximum number of
characters that can be represented
by the ASCIlI character set

Answer: The maximum number of
characters that can be represented
by the ASCII character set is 256.

Which SQL statement is used to
create a dafabase table

CREATE TABLE.

What is the hexadecimal
representation of the decimal
number 128

The hexadecimal representation of
the decimal number 128 is 80.

Why is there a problem with ASCII
for some languages

Answer: ASCII cannot represent the
thousands of different characters
used by some languages, like
Mandarin.

What is an output in programming

Something that a program
produces, which can be displaying
words on the screen or playing
music through the speaker.
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